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QUESTION 1

What are the key components of the reporting solution?
A. Templates and pdf document generator

B. Application data storage and data warehouse

C. Reverse proxy server and security certificate

D. Build agent and the build system toolkit

Correct Answer: B

QUESTION 2

Which statement is true about the structure of a project area?
A. A project area may contain a team area

B. A project area can contain only one timeline

C. A project area is contained in a team area

D. A project area is included in a timeline

Correct Answer: A

QUESTION 3

Which capabilities does Rational Team Concert support out-of-the-box?
A. process configuration, reporting, and business process management
B. task tracking, planning, and source control management

C. build automation, performance testing, and test virtualization

D. planning, real time dashboards, and use-case modeling

Correct Answer: B

QUESTION 4
Which three Rational Team Concert user interfaces allow users to request and view build results? (Choose three.)
A. Eclipse client

B. Visual Studio client
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C. web client
D. command line
E. Customer Information Control System

Correct Answer: ABC

QUESTION 5

In a work item comment, a practitioner types in "defect 2632". Given that there is an existing work item with the 1D
number 2632, which statement is true?

A. The current comment is copied and added as a comment to "defect 2632".

B. A parent-child relationship is created between the current work item and "defect 2632"

C. Alink to "defect 2632" is created, and a click on the link opens the corresponding work item.
D. The content of "defect 2632" is copied into the current comment.

Correct Answer: C
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